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Maya has 120 caramel apples to sell. Each caramel apple is covered with one topping.

—

* 5 f the caramel apples are covered with peanuts.
1 . .

* Jare covered with chocolate chips.
3 .

* o are covered with coconut.

e The rest are covered with sprinkles.
How many caramel apples are covered with sprinkles?
A 100
B 33

C 25
D 20

Solve the problem

What skills are necessary to solve this problem?







Attack Strategy

SOLVE

Study the problem.

Organize the facts.
Line up the plan.
Verify the plan with computation.

Examine the answer.

R-CUBES

Read the problem.
Circle key humbers.
Underline the question.
Box action words.
Evaluate steps.

Solve and check.

1 I\~ F §

UF oV
|UNDERSTAND

Read and explain.

PLAN

How will you solve the problem?

| Q.
DULVE
Set up and do the math!

JCHECK

Does your answer make sense?
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Additive Word Problems

A

Ali delivered 12 boxes of cookies on Friday
and 25 boxes of cookies on Saturday. How
many boxes of cookies did Ali deliver?

B

In March and April, it rained a total of 11.4
inches. If it rained 3.9 inches in March, how
many inches did it rain in April?

C.

Sam mows lawns and made $560 last week.
She made $95 on Monday, $135 on Tuesday,
and $70 on Wednesday. How much did Sam
make on Thursday and Friday?

NOTES ABOUT TOTAL PROBLEMS:




Additive Word Problems

D.

Audrey has 162 wooden beads and 95
glass beads. What is the difference between
Audrey’ s wooden beads and glass beads?

E.

Damian’s dog eats 9 1/2 cups of dog food
each week. Monte’ s dog eats 4 1/4 cups less
each week than Damian’ s dog. How much
does Monte’ s dog eat in a week?

F.

The temperature in Norfolk was 12

degrees warmer than in Roanoke where

the temperature was 79 degrees. It was 86
degrees in Marion. What was the temperature
in Norfolk?

NOTES ABOUT DIFFERENCE PROBLEMS:




Additive Word Problems

G.

A plant was 3 3/4 inches tall at the beginning
of June. By the end of July, the plant was

9 1/8 inches tall. How many inches did the
plant grow in 2 months?

H.

Martina has some money in her bank ac-
count. Then, she spent $135.69 and has a
balance of -$24.80. How much money did
Martina have to begin with?

l.
Hui saved $70 in January. In February, she
spent $64 of the money she saved. She saved
$92 more in March. How much has Hui saved
by the end of March?

NOTES ABOUT CHANGE PROBLEMS:




%9 UIX (5002 ‘UoWyoNg-aulibaq g ‘DIPUSIIP “UIX ‘€102

|0 32 B[|DM 2P UDA Hh00Z

|0 32 DIPUBH( {| | 0Z IS 79 DIPUSHL (Z00Z ‘SeUOr-Uoied % “Ididig ‘D4pusHr

"b00Z ‘Bupyz

{WoJ} Pajoa||0o |DIJ2ID

JSdaddou Jo
X0Q 2uo jo 2o1ud a2yl

SI IPYM "G/ b$ 1uads
2Ug "sdaydoul Jo

£,S21UMOJ(
01 S213000 JO 01104
241 S JOYA\ "S2luModq
GZ pup SaI4000

$230g 2y plp SaI4009
Aupw MOy ‘SalumoJq
GZ pa3pg 2y §| "G:¢
SOM Salumodq 01
S2I3000 JO 01104

2y "Selumodq pup

£a3pg 2y pip
S21UMOoJqg Aupbw Moy
'S9I4000 G| paypqg a9y
1| "GIE SDM S2IUMOU(
01 SaI14000 JO 011D
oY | "Selumodq pup

3svd

soxog G 1ybnoq vinod G| pedpQ UllSN  Sal}000 pPadbg UllSN[  Sa2I13000 paypg ulisne OlLVY
12104 J1un YiipA umousun o110y umousun ﬁmg:DQEOU umouxun asog GTvaned
o, K|3024400
JoMSUD UOSIDAA PIP
suolisenb Auow 6, SpIOM Zh | ssa1nuiu
Moy ‘suolisenb O 2dA1 01 A||og 2307 1 / ul 2dA1 A||0g
poy 1sa1 ay1 4| ‘Zinb p|lnom sainuiw Aupw pINoo spJom Aupul
20UaI10S SIY U0 %08 MOH ‘salnuiuw ¢ ul MOH "Sainulw z ul
UpD pPaAla2ad UOSIDAA SpJOM QG padAl A||IpG  SpJom 9G padAl A||0g — - suoljdodody
:obpvjusodad YA ‘umouun 10a(qo ;umousun 10algng /SOI0Y
iMoud
¢Mold poluog AlPW pIp S1oMOl ¢>o1d polunQg
. pad adem Aupw pIp SJomoll aJoul AUDW MOY ‘SJaMO|} pip sdamo)) Aubw e

MOy ‘MO||2k adom

SJoMOY 92U} 4O G/| 4|
"SUOMOJ} MO|[2A pup
pad GZ paxold Mijow

1U0I1004} YlM

Sowll Aupbw MOoH
"SUaMol} | Z paxold
DOIUD(] "SJOMOY}

L pa¥o1d Moy

‘umoudun sewl |

L Z pa¥21d poluoQg
3 APW SO SJoMOY
AUpW SO Sawll

€ payold polup(

:umousun 318G

MOH “Sdamol} Aupul
Sp sewl} ¢ payold
DOIUD(] "SIOMOJ}

L paxoid YI|pW

JumousuUn 3oNpodd

(1npoud) z1a1diynw)

V-Or

d

(393)

=1XS

1S Jayjouo
10 1Jpd Jo
a|dijinw o
Sp 18S 2uQ
uosiapdwo)

., Sbba
uo puads plup\\ plp

yonw Moy "Gp'z$

5, U000 Yyona
Ul adem sbba Aupwi

iANnqg vl PIp
sbba JO SUODO Aupw
MOH "yopa sbba 7|

.Ang plup\y pip sbba
AUDW MOH "UO0IJDD

(104

(snun

sjun
JO s38S |pnba

1S02 U03UDD Yyoug | MOH "S662 09 JO |PI01 UM SUOLIDD Ul P|OS Yova Ul sBBa 7| | D seauny SO squinu v
'sbba JO SUODO | D JO) SBB2 JO SUOIIDD  aJdam SBBa ay| "sbbe  yiim sbBa JO SUOLIDD Q O (Kdop)
G ybnog pluo|p G ybnog pluo|p 09 1ybnoq vldpw G ybnog pluo|p sdnouJr)
1210J4 YA “umouun Jaquinp ‘umousun sdnodg) ‘umousun 1onpodd =N X ¥H |pnb3
uojiuye(d

SUOIIDIJDA so|dwoxg | sdeziupbi o1ydode) | pup pwWayog




Multiplicative Word Problems

A

Lola baked 6 pies. For each pie, Lola used 5
apples. How many apples did Lola use?

B

Jane bought 112 light bulbs. The light bulbs

come in packs of 4. How many packs of light
bulbs did Jane buy?

C.
Zachary has 3 feet of string. He makes
braclets, and each bracelet needs 5 1/4

inches of string. How many bracelets could
Zachary make?

NOTES ABOUT EQUAL GROUPS PROBLEMS:




Multiplicative Word Problems

D.

Enrigue has 2 times as many pencils as Ava.
Ava has 6 pencils. How many pencils does
Enrique have?

E.
Susan has 7 times as many books as Mo. Mo
has 18 books. How many books Susan has?

NOTES ABOUT COMPARISON PROBLEMS:

F.

Molly ran 2 miles in 18 minutes. At this rate,
how many miles could Molly run in 90
minutes?

G.

An airplane’ s altitude changed -378 feet over
7 minutes. What was the mean change of
altitude in feet per minute?




Multiplicative Word Problems

H.

The number of blueberry muffins that a baker
makes each day is 40% of the total number
of muffins she makes. On Monday, the baker
makes 36 blueberry muffins. What is the total
number of muffins that the baker makes on
Monday?”?

l.

Sara buys a sweater at a department store.
The sweater costs $30. The store is having a
25% off sale on everything in the store. Enter
the amount of money, in dollars, Sara saves
from the sale. Do not consider the sales tax.

NOTES ABOUT RATIOS/PROPORTIONS
PROBLEMS:

J.

Leslie had 3 pizzas. Each pizza was cut into 8
pieces. Leslie ate 2 pieces. How many pieces
were left?

K.

Mr. Kahn gave away 8 blue balloons and

6 red balloons. He gave away 3 times the

number of white balloons as red balloons.
What was the total number of balloons Mr.

Kahn gave away?




